
Caractéristiques de l'épreuve

2X Chamalières Bagnols-sur-Cèze

Joueurs : 96 M = 192 D = 2

Joueurs par Série : Total :

Serie 1 : A : 1 B : 0 1

Serie 2 : A : 1 B : 5 6

Serie 3 : A : 6 B : 7 13

Serie 4 : A : 15 B : 8 C : 9 D : 6 38

Serie 5 : A : 8 B : 14 C : 2 D : 5 29

Serie 6 : A : 5 B : 3 C : 0 D : 0 8

Serie 7 : 1 1

Chamalières TH2 joker

Joueurs : 58 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 1 B : 0 1

Serie 2 : A : 0 B : 4 4

Serie 3 : A : 3 B : 1 4

Serie 4 : A : 9 B : 4 C : 4 D : 2 19

Serie 5 : A : 6 B : 11 C : 1 D : 4 22

Serie 6 : A : 4 B : 3 C : 0 D : 0 7

Serie 7 : 1 1

Bagnols-sur-Cèze TH2 joker

Joueurs : 38 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 0 B : 0 0

Serie 2 : A : 1 B : 1 2

Serie 3 : A : 3 B : 6 9

Serie 4 : A : 6 B : 4 C : 5 D : 4 19

Serie 5 : A : 2 B : 3 C : 1 D : 1 7

Serie 6 : A : 1 B : 0 C : 0 D : 0 1

Serie 7 : 0 0
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